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Na = 6,022K.07 -1

R=8314 K™
= =0,08205
x HK Ix -1

F=06485 x 1

h=6,63403 x

|
# c=3,040° x7!
0,
$ , % _& 273,15 K
1$=1 > -2
1 =1,60210"%
) 1,60240™"
$ ! 0
(..): 1
I I 11 =10
=7602  =1,0132540°
4'5 |1 v=2 gx3
3
29 /

D,G% - RTInK=- nFDE? |

PV =nRT

E=hcl/l

G=H-TS

H=0J + nRT

I Q=N
_Ea
k=Ae RT
Kw = 1,010 (! 25°C
I Q=N
$
E=E°+ 22T +(OX‘):
nX¥ +(Red)"
-) ] - —ex X|
/
(. -
Inp=- DHO+const
P RY
0
012 fink, _DH
T pT2
32 T , RT
! 32
InK4(T) I:)H0+ t
n =- cons
a RT



1 18
1 2
H He
1008 | 2 13 14 15 16 17 | o,
3 4 5 6 7 8 9 10
Li Be B C N [e] F Ne
6.941 | 9.012 10.81 | 12.01 | 14.01 | 16.00 | 19.00 | 20.18
11 12 13 14 15 16 17 18
Na Mg Al Si P S Cl Ar
22.99 | 24.31 3 4 5 6 7 8 9 10 1 12 26.98 | 28.09 | 30.97 | 32.07 | 35.45 [ 39.95
19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36
K Ca Sc Ti \ Cr Mn Fe Co Ni Cu Zn Ga Ge As Se Br Kr
39.10 40.08 44.96 47.87 50.94 52.00 54.94 55.85 58.93 58.69 63.55 65.38 69.72 72.64 74.92 78.96 79.90 83.80
37 38 39 40 41 42 43 44 45 46 47 48 49 50 51 52 53 54
Rb Sr Y Zr Nb Mo Tc Ru Rh Pd Ag Cd In Sn Sbh Te | Xe
8547 | 87.62 | 88.91 | 91.22 | 9291 | 95.96 [98] |101.07 | 102.91 | 106.42 | 107.87 | 112.41 | 114.82 | 118.71 | 121.76 | 127.60 | 126.90 | 131.29
55 56 57 72 73 74 75 76 77 78 79 80 81 82 83 84 85 86
Cs Ba La Hf Ta W Re Os Ir Pt Au Hg T Pb Bi Po At Rn
132.91 | 137.33 | 138.91 | 178.49 [ 180.95 | 183.84 | 186.21 | 190.23 | 192.22 | 195.08 | 196.97 [ 200.59 | 204.38 | 207.2 | 208.98 | (209) (210) (222)
87 88 89 104 105
Fr Ra Ac Rf Ha
(223) | 226.0 | (227) | (261) | (262)
58 59 60 61 62 63 64 65 66 67 68 69 70 71
Ce Pr Nd Pm Sm Eu Gd Tb Dy Ho Er Tm Yb Lu
140.12 | 140.91 | 144.24 | (145) | 150.36 | 151.96 | 157.25 | 158.93 | 162.50 | 164.93 | 167.26 | 168.93 | 173.05 | 174.97
90 91 92 93 94 95 96 97 98 99 100 101 102 103
Th Pa U Np Pu Am Cm Bk Cf Es Fm Md No Lr
232.04 | 231.04 | 238.03 | 237.05 | (244) | (243) | (247) | (247) (251) | (254) | (257) | (256) (254) | (257)







. %5 by
5 0 (1 0 10 ! 1! 7 ! !
o] ! ! ! : "Veni, vidi, vici"
I( ! !5 Pl Ne Cd, V(3% ), 5%).4
5 10 ! ! )"Errare humanum est") "Per aspera ad astrum"
1. 10 % 2
0 0 110 ( & ! ).
"Errare humanum est" "Per aspera ad astrum"
2. % ( . % L, . %
Il ( ! 0 . ), ("% 20
!
$. %
L1,
$. %
L1,
3. (.1 , 115 ,
1 -10 1! , 3. .87
01 ! 3 : 32
, 9 %!
"#S%&'H#( $ )*+*, * 1-&.+/0*12
3 456 7 6 486 2
3
946 796: 94 < 79<:. 948<79< 4
9=6>4 <79< 4 62
376 7?7 6 46 462
3 < 4:64 67 4 <46
3 4 67 =6> 4 2
3 46 7 62




3 4@ 7 @g2

3 46 7 6 2

3 4,< 7 < A2
36 4 76 4 62
N 1 (. T 0 0
10 | 7 (& & & %10
"oHS%E ' && () )
+ 1 " -/ &% . 0
2.
(2009 ( 52
| ( 3 3 .
(' .7 (1& 3 5 & 118 1.
((5 X L1 &1l (01 11 0 11!
( |
11! ! ! 0O 1 3 2 o'l 2
rol 32 ! 1 (!
(% : ¢ #) I S 9%,7 5( !
11! ; $ ! % , % %
$ % & 10 ! (1 5 2 ) (! 27 ° |
(1 251939 . 3. % , I( | (I 150 ° 0
1% F L 1 ( % .87 3. (% ! 350 °
1% L 1% " (W(CI) = 60,66 %). | 3 |
5 47,79 %.
1. # & %! 10 1! 5 2 !
0! & I &




41 | , -0 ! KitCl,. 41! Kt:
M (Kt)
M{Kt) +35.45n

=0.3934

M(K @)= 23n

' n=1, —NaCl (" n=4, —zZrCl,

( ! 350° ( & 5 1%
4 ! 1 5 < 5 &
& & 1 D).
&—04?49
M(B)+M(B)
I( , —NaCl,; ( )=53,5/ .B—NHCI
I( , —ZrCl, ; ()=213/ .$ 5 N 7
5 1
) . & 2 %
mRT  0.01-8.314- 300
M= = =495
pV 251939 -0.002 MOJIE
4 % o ()+; ()=495=2=99/
0 &l1! ( ( (¢! , 7 3 ! -
> ! 0 (1! ).> ; ()=99-71
=28/ :
1! -3 .
) (1% 32 :
A+ 4HCl = NaCl + NHCI + ChL + N,
? (. 1! .4
1! ! % $ . $ % 1:3,
( 1! -3 : I NaNs.
I - NaN3 " —NaCl # — NH,CI
$—C|2 %_NZ
I HCI
NaNz + 4HCI = NaCl + NH,Cl + Cl, + N,
2. L( l , 7 ! B,
! . ! ! ! . (
10 ’ ) . %! 5 (%

‘N=N*=N 4+ N@-N? < 2N-N@

10




3 ' % $ % 10
M 49.5 r
d=—=—"—=1221-
V. 224 1
r=_221 4# .
4. % $  %( (! 11 4% (! 80°
3. ,7 (! 3 !
3Cl, + 6KOH = 5KCI + KCIQ + 3H,0
3.(
1.) ( 110 1 7 50 1! 2
817 >I(
) 0 (! 20 5
) 3 1. I
) (10
)
) !
)
5 I( 1.1
)13 (" 'o
2. ! : : (
* ( ! 30 (O
N33P5+O4, Mg3P23', K2P25+O7
3. ' ! 120 1!

1 & KNO;35,0%7?

m(KNOs) = 120> 0.05 = 6.0,
m(H,0) = 120 — 6 = 114,
n(0) = 6*3/101 + 114/18 = 6,51

N(4) = 6,51x6,02407 = 3,924 0%
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N( )=23,9240™

4, + 3& ( 3 BiZSrzCa(Cq XNix)zog,
x=0,022.

M(Bi,SrnCa(Cy 4Ni,),0g) = {25209 + 287.6 + 240.1 + 2 [(1-0.022)63.55 + 0.0258.7]
+846} = 888.1 (x '1), w(Sr) = [87,62] / 888.1 = 0.197 (19,7%).
w(Sr) =19,7%

4.,
11 ! I % 0 2 20
(10 1! " #. 5 4 1 & & 0
'5 1 (! 1000° (! ! % 20 10 1! $
% 5 I . % 352 % (& & 5
11 - I % 1 ! 1 .87 5 & |
0 ( 1 (! 100°, &5 ( 11 #1
L$(.)4 -( ( & & 1 L (1 ( &
1% # &5 | ( A 4]
! (1 C(L), N I 5 (r !
0 & & ( .
1. & , %! L7 !
( 5 2 2 I 0 (! 100 1000 ° (
11,78, " # (0 $ % & . ( !
352 1 5 't 0 110 ( 10, % 10
! " # $ % - . :
SiC | Si C | sic| ccl [Ssio( )] HCI | sio, | co | ca
2, 3.
Si+C=SiC

SiC + 4C} = SiCl, + CCl,

SiCl, + 3H,0 = H,SiO; + 4HCI
SiC+2C}=SiCl,+C

H,SiO; = SIG, + H,0O

SiO, + 3C =SiC + 2CO

2CO+Q =2CQO

SiC + 2NaOH + 2= N&SIiO; + H,O +CO,

12




$(( !

$ |4 1L ! , ! 10

% 1!

4.+ ( 52 1 0 (! 1000 ° .

p=nRTNV=2,12Ma

p=212M a
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$ & ' 1110 ,

NH, *

NH
BrF,+ : XeF, v

NO, BF, co, o 4

5
SloJy
SF, ClO

XeF,

1./ 1M& , ! 10 % !

&
o OF, NH,"

2. ( 0 3 I 301!

3. # * ' 0 310 1 : 10 ! ,




( I3 ( I3
@' 8 C6 '
C6 B
C D@
@ 8 6@
c 9@
@ A
2@ <6 '
@ D@
6 E
6. '
! 1! 8,4 1 0! .
Il 19,07 . > 3 &
5.05 ( 0 "% %, (! !
! I( 1 52 ( ! #,
(' 1 o ! . ! 22,64 % ! :
1. # L. 1 (! L, # (
0 ! ( (Ch=355/ ).
? —Fe | —FeC} , — FeC} | —FeO,
2. 0o 10
Fe + 2HCI = FeGl+ H,
2Fe+ 3C} = 2FeC}
3Fe + 2Q=Fg0,
FesO, + 8HCI = FeCJ + 2FeC} + 4H,0
3 0 (! " #7?
, - « , - ( . (&1
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5 ; . I, % 5 I
5 0 (1 0110 ! 1! , 7 ! !
L] ! ! ! : "Veni, vidi, vici"
I( ! !5 P Ne Cd, V(3 ), 5%).4
10 ! I )"Errare humanum est") "Per aspera ad astrum”
5. 10 % 2
10 0 1'0 ( ! & ! ).
"Errare humanum est" "Per aspera ad astrum"
6. % ( . % N . %
P ( ! 0 . ), (1% 20
|
$. %
P
$. %
P
7 (.1 , 11' 5 ,
1 -0 1! 7 3 87
01 ! 3 : 32
, 9 %!

I"HSU&'H( $ ) +*, * 1-&.+/0%12
3 4567 6 486 2

3
946 796: 94 < 7 9<: 948<7 9< 4
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9=6> 4 <79< 4 62

376 7?7 6 46 462

3 ;< 464 67 4 <46

3 4 67 =6> 4 2

3 4@ 7 @g2

3 46 7 6 2

3 4,< 7 < A2

36 4 76 4 62

8. : (1 2 ( . I 0 0
10 ! 7 (& & & %10
" A% & ' &&  ()'* )
+ 1, " -/ &%. 0
2.
(2009 ( ! 52
! ( 3 . 3 .
( ', 7 (1r& 3 5 & 11& !.
((5 N 1,1 &l (11 11 0 11!
( !
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11! ! ! 0O 1 3 2 o!"2
! 32 ! (I Y
( % : " #) I ¢ 9,7 5( !!
11! ) $ ! % , % %
% & 10 ! (! 5 2 .) (! 27 ° |
! 251939 . 3. % , I( ! (! 150 ° 0
1% I L1 (% .87 3.(% ! 350 °
1% L 1% " (w(Cl) = 60,66 %).! 3 !
5 47,79 %.
5. # & %! 10 1! 5 2 !
0! & I &
41 ! , —0 ! KtCl,. 4 1! ! Kt:
J'I-ff[ffl_":] o
M(Kt) + 35.45n 0.3934
M(K&)=23n
I n=1, —NaCl (" n=4, —zZrCl,
( ! 350 ° ( & 5
1% . 4 ! 1 5
< 5 & & & 1
) .
M(B)
M@E) T ME)
I( , —NaCl,; ( )=535/ .B-NHCI
I( , —ZCly, ; ()=213/ .$ 5 I 7
5 1
) . & 2 %
y — MRT _001-8314-300 r
7 pV 251939:0002  mMoa:
4 % Lo () +: ()=495=2=99/
0 &Il! ( ( (1 1! 7 3 I -
> 1 0 (1! ).> ()=
99-71 =28/
1! -3
) (1% 32 :

18



A +4HCl = NaCl + NHCI + CL + N,

? (. 1!
4 1! I 1% $
% 1:3, ( 1! -3 NaNs.
I - NaNs " —NaCl # — NH,CI
$-ChL %— N,
I HCI:
NaN; + 4HCl = NaCl + NH,CI + Cl, + N,
6. o , 7 1 5.
I . ! I I .
( 10 ’ ) . %l 5 (%
N=N"=N ¢+ N@N-N?* 3 °N-N@N
7 % $ % 10
M 495 r
d=—=——=221—
V., 224 n
r= 221 #H .
8. % $  %( (! 1 4% (! 80°.
3. ,7 (! 3 !

3Cl, + 6KOH = 5KCI + KCIQ + 3H,0

19
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3.(
1.) (10 '1 17 50 1!l ?

817 >|(

0 (! 205

3 1. ! ?

(110 ?

QVVVVV\/
N

= ( ! 30 (O

| NasP** 04, MgsP,”, K4P,>'O;

3. ! ! 120 1! &
1 & KNOs;5,0%?

m(KNOs) = 120> 0.05 = 6.0,
m(H,0) = 120 — 6 = 114,

n(O) = 6*3/101 + 114/18 = 6,51 |
N(4) = 6,51x6,0240” = 3,92 0%

N( )=23,9240™

4, + 3& ( 3 BigSrZCa(Cq XNiX)ZOS,
x =0,022.

M(Bi,Sr,Ca(Cy 4Ni,),0g) = {2:209 + 287.6 + 240.1 + 2 [(1-0.022)63.55 + 0.02%8.7]
+846} =888.1 (x %), w(Sr) = [87,62] / 888.1 = 0.197 (19,7%).
w(Sr) = 19,7%

4.,
11 ! I % 0 2 20
(10 1! " # 5 4 1 & & 0
'5 1 (! 1000° (! ! % 20 10 1! $
% 5 | L% 352 % (& & 5
11 - I % 1 ! 1 . .87 5 & |
0 ( 1 (! 100 °, &5 ( 11 #1

21



1% # &5 | ( ( 4
| (11 (L), N | 5 (r
0 & & ( .
5. __& , %! .7
( 5 2 2 10 (! 100 1000° (
1:1,78," # ( 0 $ % & L, ( !
352 1 5 't 0 10 ( 1! , %! 10
! " # $ % - .
SiC Si C | SiCl| ccCl, |[SiO( )| HCI | SiO, | CO
6. 3. (
Si+C=SiC

SiC + 4C} = SiCl, + CCl,
SiCl, + 3H,0 = H,SiO; + 4HCI
SiC+2C}=SiCl,+C

H,SiO; = SIG, + H,0

SiO, + 3C =SiC + 2CO

2CO+Q=2CQ
SiC + 2NaOH + 2= N&SiO; + H,O +CG,
7. % + (! 3 (!
! ! , &1
$(( !
# ! ,
$ (4 11 ! ;] 10
% | 111
2 1 (!
21 (!
4 |
.2 (1!

22




8. __+ ( 5 2 1 0 (! 1000 ° .

p=nRT/V=2,12Ma

p=2,12M a

$ & ' 1110 ,

NH, *
P OFz 4

BrF,+ NH, XeF, v

CO

NO,

so?
4 -
V/ SF, clo,

XeF

23




NO, BF, co, PF/ CH,
AV, .
V/ SF, clo
\xeF4
5. ( 0 3 I 3101 !
6. # * ' 0 310 1 10 !
: (1! ) 0
3 ( 13
@' 8 C6 "
C6 B
C D@
@ 8 6@
c 9@
@ A :
9@ <6
Q@ Dd
6 6 °
6.
! 1! 8,4 1 . I
11 19,07 > 3 ( (
505 0 $ % (! !

24




(! 1! 0! ! 2264 % ! "
4, # ! 1 (! L, # (
0 ! ( (Ch=355/ ).
? —Fe | —FeC} , —FeC} | —FeO,
5. 0 0 (
Fe + 2HCI = FeGl+ H,
2Fe+ 3C} = 2FeC}
3Fe + 2Q=Fg0,
Fe;0, + 8HCI = FeCJ + 2FeC} + 4H,0
6. 0 (! #?

25







1 &  ( 111 ! #. — 351 / 8
1 12 [ ! =3,576 A
(1A=10% ), 3 ! 8 1
I( # 5 ! ! 35,32 &, #
I 4 |
1. 1.
4 | . 3 0! 8 ?,
my = AV/8 = Aa%/8 = 2,00810% .
A— | V- '5 2 ! L= 12 2
| .
?.
Ar(X) =my Np, =12 / ,? -
2. 0. ! #.
|
A = 4y /Vp = 42,00640%° /35,3210% 3=227/ 3
3. | ! 1 1 ! I 1 5 395,34 ( , ! # —
39351 .! 1 ( ( | #,
) :
+4,=4 ,+Qp; (1)
+4,=4 ,+Qpg; (2)
= + Qne; (3)
87 5 ! ( 2 11! . (1r (3 1),
(1 ( 1 ( 1! ( 3 3, (1Y (3
2).> 5
Qas + Qg = Qa;
Qpg = Qu - Q3 =395,34-393,51=1,83 /
> ( - 11 (3
4.) (13)( - # 5 11 | 5 5 (
I # (! ! ( !
| % | (¢ 17 ).
4 (13K - # 5 (7 ! (15 ( &
- 11 (3 , (7 ( | (15

27




( &
5.8 ! & 11! I #?
2. ’
( / \
$ 0 % 01 (
110 ( 7 -
(% %! .
Y - (% % ! (
( G ! 50% ! \ /
1, 111 (1% ‘
0 ( 10 / \
0
= = A= = C= D= = = = =
N2 H-O O NO NG, N>O3 HNO, NHs NHsNO, MgsN>
N,O, H.O N2+O=2NO ( (! );
B~ N 2NO+0=2NO;
NO
2 HNO, NO+NO=N,O3 (! O )
‘02 ‘ NH3  N,0s+H,0=2HNO,
NQQ / NH4NC)2 HN02+NH3:NH4N02( . (I Q° )
KOH NH4NO>,+KOH=NH3+KNO,+H>O
Mg N,
- ™ ANHg+30,=2N,+6H,0
MgsN H,O NH, 3Mg+N=MgsN2 (( ! )
MgsN2+6H,0=3Mg(OH)+2NH;
NHsNO,=N>+2H,0O ( 2 ( ! )
2.8 ! ( . F,Y? IT3& 3 10
( 0 % 2 ).

28




-~ . (NO)

C- (NO; N - sp)

F- (NHg; N - sp)

Y - (H,0; O - sp)

3.8 & (! 7 & 0 10 , 2)( (. (1
7 I ! 2 310 ( .

EF*+ -G&0& H) ! -&0&C6 *C6 #&IIJ*" $#( C6,"C62
C C67C64 6=%FH 5B KL>

2HNO;+P,05=2HPG;+N,05

3. NOCI
! 7 ! NOCI, %! &5
( ! ;
KP
2NOCI <= 2NO + Cl,
11 ( ! ( :
NOCI NO Ch
S /(B ) 264 211 223
Cc % / 53 91 0
1. 0. C 2% cg* 2 32 .
Cc ®-76 ,c%117 |/
2.8 (1 ( (0 32 ) % r
( ! ?
) 7 L) )
3.) (1% ! 0 K 2 32.
Kp = p*(NO)B(Cl,)/p*(NOCI)
4. 0. 1 CG K,(! 298 475 .

29




CG=C -TCS=-RTnK,
CG*%®=41134 |/  K?%8=6.1610°

CG*®=20425 | K*®=56710°

5. ( (I 298 ! 1 !
1! NOCI
11 11 11 2011 11
NOCI NO Cb
: 1 1-3 2
>| (1-3) 2
&1! =1 | ! !

4°(1-3x)°=6.1610° D x20.0025,  0.25% —3(Cl), 0.50% -3(NO), 99.25% -3(NOCI)

4.
11 . 5 5 ! B
2 1 12 (! ¢ ! 5 5 & (!
1! ! 0 ,

( 1% 1.

1 (! I( E.4 %
(1 50° (! ! F (Ea=56,36%). ! 3 F G (!
&5 (1 (( 11 1 ) &5
11 H, (! ( ( 15 31,07% 52 |
(  &&1! ( .
1. L -G 7 7 Mc=8,875

A—-Ps, B-0Q, C—-ROqo D—-HPO, E—-AgPO, F—-ROs, G- Q, H - POss.

2.) (% ( 0 o010 3.

30



5P, + 50, = 5R,0q9

P,O10 + 6H,0O = 4H,PO,

HsPO, + 3NaOH = NgPO, + 3H,O
NasPO, + 3AgNG; = AgsPO, + 3NaNQ
3P4,O1g + 2R, = 5RO

P4Og + 40; = P4O1g

P4O18 = PsO1p + 40,

30, =20
3.8 & L F,H?$ 1 !
O/O\O
0 \P/
|P| P -7 T
e
TO// \T T / \T ,O\TO T/O\
. . 07 | P
P
07/ e 07 T¢ o5 o6
o) N\ /
O
C F
H

4.8 ! I ( ! : NaOH, HNQ, N&PO, ?
P,O1p0+ 12NaOH = 4NgP O, + 6H,0
P,O10+ 4HNGO;= 4HPG + 2N,Os
2NaPOy + P,O1o= 6NaPQ

5.1 ,

2 ! 1& 22( 1 ( (
( 3 'l 0 & 3! :
((3* ) I ) ’
# , ) )4 4 * 4 , ,
: # i # *
+ 5 4
4 41 4 &
0, , 4 : *& . 4 : & *
..... - iy )4 # »
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11,
(1% ! %!

), L.
&5

% &

&

(!

2
|

3
(3
(0

1,3698

& &

32
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o & | I 4 L 1 a7
326, 1 (! &5 (! ( ) > 3 1 5
0 , 0 11 !
4 | 0 (O I '
0 > ( % I I (1.1 7
10 ( ! L 20 ! !
1,2,3/ )
>1 1, % 1 (5 (11! % ( !
10 )1 1,375 | 1,333333, 4/3.4 1 | 5
! +3, Y +4.
>( 1 1 % ( 1) ! $l1
- 1, (-)- Y, ! 3 1

X
= =3 -137 x=3736

4
! =2 ? ! 747 ~ 75/ , 7 ( 5 , Y 5
73 / , 3 - ) )
0 I 1& I( ! 5 I 199 ' ( £03).
2.3(% 10 3.
As,O3 + 6Zn + 12HCI = 2Askl+ 6ZnCh + 3HOH
2AsH; = 2As + 3H
GeO + 4Zn + 8HCI = Gel+ 4ZnC}h + 2HOH
GeH, = Ge + 2H
2As + 6NHOH + 5H0, = 2(NH,)3AsO, + 8HOH
3.8 | 5 ;1 ( ("% !'%5 3& ?
$ (O 3! && 111 :CuSQ +7Zn=27ZnSQ+ Cu
&5 1 ( Cu/Zn, I 1 3! 15 I % ! %

33




4. F! 2 P ! ! ?

$ | 5 1 | N 11 &5 & .> 27
o1 2 (! [
5% ( && (3 ( 352 2

32 (1132 310

Y T
H/Ai"H H/Gell_'H H-H

sp3 sp3

6.
1! 200 2 % 0 (0 1! 65,16

1! 3 2 12 11 (1 1%

% 0 5 672 (.) (5 ( % 1:4,

1! 0. ) (2 . 32 1% ||
( 400 2; 1 ! & .
1.1 1 I ! 10 2 %
nH,80)=""Y " =06 (11 )
H,S0, + 2NaOH = NaSQ, + 2HOH
n(  .H,S0O,) = 05x(NaOH) = 055C¥ = 05 204 = 04
Dn(H,S0,) = 06- 04=02
> (% | (o 1! . 1,
( oo 7 111 5 1
41 % 5 | SO. &5

1,672 4 672

s0)=-x>'“= gp6 = 25202 2 0o4

n(SQ) = 5 224 n(SQ) = c 224 2
110 | 006 | 5 7

! |1 02 11 (3 | 5 ! SOy
> n(SQ)=024 s , (10 1! s

2H,SO; + S = 3S@ + 2H,0
2H,S0, + C = CQ + 2SQ + 2H,0
n(C) = 0,06

m(C) = 120,06 = 0,72 (36 %)
m(S) = 2-0,72 = 1,28 (64 %)

34



2. 0. pH 2; 1! ! &

pH =14 — pOH = 14 + IgC = 14 + Ig2 = 14,3,

3.1 1 3 3& 3 1!
3 1! 196! 1% NaSO, (0,4 ),. 0,4-142 = 56,8.
LR I (' . 32 1! :
M(HOH) = 7 >V >(1- )+ M (HOH)>n(HOH) +m(HOH _ _ NaOH)
05 ! 11 NaOH (d = 1):
m( 1! ) =1,0-400 = 400, m(NaOH) = 0,8-40 = 32, m(HOH) = 400 — 32 = 368
05 1 7 15 32 . 32 :m=042-18=14,4
05 1 7 15 30 1& | &
m = (0,24-2/3 + 0,06-2)-18 = 3,42
05 1,7 1! 12 11 (d=1

n(H,SQOy) = 0,4 + 0,24-2/3 + 0,06/2 = 0,59
m(H,0) = 65,16-98-0,59=7,34

) I
m(HOH) = 368 + 14,4+3,42+7,34=393,16
3 3 1! : W(NaSQy) = 58,8/(393,16+56,8)-100 % = 12,6 %
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1! ( I( Bm 1. 0 & 1 !
1! (), L. 115 = [AI"BI™ (! [Al, [B] ( 1&
3 32 A B, ( ) 5 & ( 1! |
(2 (! %! 7. 1 [A]"[B]™( 7! (115
B 1 1! 0 !& & 3 35&
11 11 ( 1& s)
1.8 ( 7 1! 5 — HgClL 1! Agl, 7 (Hg,Cly) =
1,3-10%, (Agl) =8,3-10'? ( . ( ! 1 | s.
=[Ag'BIT=X
X = 8,3-10" =9,1.19 /
s=9,1.10 | = 235/ =2,1.10° /
= [Hg,” 1BCIT? = x- (297 = 4¢
-18
x=3 B340~ _ 6,9:10"  /
s=6,9-10 | ~ 472 =3,2:10" /
7 1! 5 HaClo.
2. 100 11 1! Agl ! 1 Nal. 8 & 3 3 Agl (
/) L l? ( 10 (
0.
3 3 - 1! Nal: c(Nal)=10%{(23+127)®,100}=6, 0"
/. 10 % . 3 32 11 Agl, , [I=6,70° /
[Ag']=  /[I']=1,2R0" /.
3. 100 11 11 Agl 1 Il Nal 1 AgNO:.
8 & 3 3 Agl ( /) 1 2
(10 ( 0. .
n(Nal)=6,6 ®0° , N(AgNO3)=5,860° ] 1% 1 Agl
1% n( .Nal) = 6,6R0° 58R0° = 7,90’ . 1 ((
1! &5 [Ag']=1,020"° /.
4.F 1! HagCl, 1!  HgCh % ?
) ! 3 ( HgChL + CI = HgCk, HgCk + CI = HgCL* ! CI
' & , 1! HgCl, 5 (! %. 3 32 Hg™"
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2.

(CgHs) - . % & &  (1,29/ 3(! 20 ).
(& 1 3 | 5 (! 1,58 % (!
(& '5 | (CgHg, ! 0,909/ %, 1,80 !
% (' (& 1 3 (! 0,703 / 9, 6,06 !
% , (! (& (I & (! 0,070/ 3).
(2 (ODH) CO, CgHis  && 3939 / -250,0
/ , :
1. 0. ( (! ,7 ' 5 (! 1 3 & .
05 (! 1 (11 %! ( , | 5 (!
(& 1 3 L X
1! !
Q 1 3 X x/1,58 x/1,80 x/6,06
n(l) 1 3 12,40 8,74 6,17 35,0
DcH, / -0,080& -0,0724& -0,090& -0,0047%

1H, + 0,5Q = 1H,0
DH(H.) = -0,0047
1CgH1g + 12,5Q = 8CQ + 9H,0
DeH( ) = -393,9B - 0,0047%B® + 250,0 = -2900,4-0,00458, 7 &5  -0,090&
' &1 3 ., 5 x=60920 , 1 3 & | 5
x/6,06=10053

2. 0. (2 (D H) (2 (OiH) !
/

DH(H20) = DcH(H>) = -0,00471860920 = -287 |
D:H( ) =-0,0806B60920 = -4910 /
DH( ! ) =-0,0724B60920 = -4411 |

1CgHs + 100, = 8CQ, + 4H,0
4910 =DH( ) =-393,8 - 28} -DH( ) =-4299 DH( ),
I DH( )=611 /

4411 =DH(! )=-393,8-28B -DH( ! )=-4299 DH(! ),
I DH(! )=112
3. 1 & (2 !
) ! 51 ( % 11 I
3.
2,97 Lo (! 100 1! & . ! 3
I 2,201 (R 25 | 1013 ; 1 &
1 0. ), 1! 195 1% . 1!
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! N 1% 1! AgNO;, 1 I( 8,61
I 1
12 1% 1! 2 I (3& 100 10
1! & ! .. 5 1,5 %!.
'5 1, ! (! 52 10 2 ! 1! NaHCQ ( '5
11 10 1 & 1 0. )
1. ! D (1% 10 3. ( ( !
0 |
I 5 0! - i >
10 1. 10 05 0! : n(AgCl)=8,61/143,5 = 0,06
1 - CO, ! &5 (! 32 NaHCQ H,SO. ! 32 NaHCQ
&5 1,5 % 4, Y NaHCQ, 1 (N
70 1 (wv), 1. ( &5 4,
05 7 ! & ;
n=101,3-2,201/(8,314-298) = 0,09 n=101,3-2,201/(1,5-8,314-298)=0,06
4,7 ! 5 A, ! 0,09 — 0,06 = 0,03
I 0! Cl ( % 1:2.
I( ! 7 1 1 .> n(A)=0,06/2=0,03 ;; ( )=2,97/0,03=99/ ,7
( 5 COCls.
10 3.
COCL + 2NaHCQ = 2NaCl + 3CQ + H,0
NaCl + AgNG = AgCl + NaNQ
2NaHCQ + H;SO, = NaSO, + 2CQ + 2H,0
2.) 1 !
(0]
CI/U\CI 0=C=0
3.8 | ! NaHCGQ ?
— , NaHCQ — (!
4. : ! 7 (I 10 0 ' 1! NaHCQ 1! NaCO; 2
2 3 32 ?
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4 1 32 | 1! NaHCGQ | 1,7 | 1%
, NaHCGQ 1 (5 0o 1. . 32 :
COCh + 2NaHCQ = 2NaCl + 3CQ + H,0

) ! NaHCQ  NaCOs:
COChL + 2NaCO; + HO = 2NaCl + 2NaHC®+ CO, ! ! 3 ! % 4 5
2NaCO; + 2H,SO, = 2NaSO, + 2CO + 2H,0 ol 2 ! % HySO,
5. 0. 3 3& 1! NaHCG;, ! Il
o . ! 1! -1,1/
c( 1! )=*V=00601=06 /
w =m/m 1 =0,06-84/(100-1,1) = 0,0458 ( 4,58 %)
4.1
: ! ! 1 5 11 11
! A 6,89 ! ! 1% 2
HCl, 1 ! I 896 ( .)
L, 5 (0 (11! 1! 19 ). .
(1 (! 1 ! 70° . F L1
(1 %! 3,81 , 1! ! . &
11,88,7 5 & ( & | 64,2 %1.". N
111
(%2 1 !! ! 3 2 2 ol , 1!
! 1! . ! & 3 1! (v !
! & 5,85 #.
1! " ! (ARN (1. , 1!
1% ( < ! L7 ( & (! (
& 6,96 .
1. ! ( | —$, (1% 10

— C(OH),(COy), A — CO,, " — CuCl,# — Cu(OH), $ — Cu(OH)CI

Cug(OH),(C0,),+6HCI=3CuCh+4H,0+2CO
CuCb+Cu=2CuCl
CuCI+3HNG=Cu(NG,),+HCI+NO,+H,0
Cu(NG;),+2NaOH=Cu(OH}*+2NaNG

4CUCH+Q+2H,0=4CuCI(OH)

2. 115 1. (! 2
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11 5 03 « '), 3.1

(! L& 0 (! ,
] ! 7
5.,
( 1,7 ! , %! & )
Ll : 1 Frr & : & . 1,88
L o1t 1 I ! 1! 'S5 5,0
! 1% . & ; 32 ! .o, L rol 4,0
0,050; 1! N&S,0s.
87 %! ! 1! , 1 5 # (0 ( !0
! &5 1! 0 ( (W(S) = 22,58 %) D (w( ) = 19,99 %),
1% ! 7 L, ( :
, 7 ! 5 L : w(C) = 12,76 %, W§) = 6,44 %, w(N) = 29,78 %,
% -4
1.1 1 111 1 —-D ( ( ! 0 ! .$ ( 3.
05 2 K :
n( ):n($):n(N):n(O)=12,76/12,01 : 6,44/1,01 : 29,78/14,01 : 26,631 :6:2: 3 § 6N.O3).
I 5 0!! Ll , Lo 1&g - S
2N&S;03 + I, = 2Nal + NaS;0 (( ! 1! 0 & ! )
n(NaS,03) = V =0,05-0,004 =0,0002 . I( ! , 71 &5 1,
!
n(!) =n(ly) = I/(NaS;03) =0,0001 : 10 - 0 :
n(! ) = 0,0001-1000/5 = 0,02 . ) ! (') = 1,88/0,02 = 94/
' (5 o . 17 ! :
(0 (!0 ! - SQ.
; ! D,7 (Y & !
; ()=32,07/0,2258 = 142 (. % - NaSQy),
; (D) =12,01/0,1999 = 60 :
M(A) - ; (D) =34 / - 1 (0! 1% (! & $4,( D-—CHNO
CO(NHy)2— 1! ), 4 (NH2)2:HO2— (! (A).

3CO(NH)2: H202 (A)+ N&S;05= N&SQO, ( )+ 3CO(NH)2 (D)+ SG; (#) + 3H:0.

< | )
21 + H,O, + 2H = I, + 2H0.
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2.8 517

! - (! &1 111 " o1 112 !
%10 1! “ ( ") ( 1 110 - 10
’ 02 ( 0 &1 , - 1% |
3 . 11! (! & ( (! ) — I :$24,
I 0 1 12 I 111
3.F I 1 L I, 22 7 5 1
I ?
(! - (1 "0 " $d, | 3 1((3
(! 2$524,=2%54 +4, 1 ( :
4. F .2 rr& 1% (! T ! ?2 %
( 3. .

5& ( & ( L ! . NaS,03 +
CO,+ H,O D NaHSQ+ S + NaHCQ@, 2NaS,0s+ O,D 2S + 2NaSO,; 1! . .
1 . | & ! - . AN+ O+
4H' = 21, + 2H,0.

5. F! ( 1l ! ! ! 01 7 2% (
3. .
! ! 1! (1!
$,05% + 2H'D H,SO; + S.
H,SO; 5 . ( % 1:1:
H,SOs + I, + HLOD SO + 4H + 2T,
NaS,0s— (% 1:0,5 (
17 . 1((3 5
I, + 20H D 10 + I +H,0.
6) & & ! ! & I, 1% EES ( 3.
< 115 | 1% 1 7 0 (
b+ 1D I3 (|2 |-)
6. (
7 11 CO 2 % ,224 352 % (( ! !,
1! 2 A ( | 59,89% X), ( 1! NaOH. !
3 ( % 1! I 1 B, ! 1! o 1.
I 0 .

4 B ! . ! 1! AgNO;, 1 K
Lo C & 046 . 1! B . I %%&
3 10 2 2 .13 ! ! D, 5 !

(L 22 1! (! I 5 ! 4,
KOH 1! (11 Z,
2 | 42,74% X.
. .7 32 (0 , ! 0 11110
( % 0
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1. %! . 11!

Lo C-3 AgCl, A50 |

ncl-) = ™AICD _ 54037
M (AgCl)
87 X 50 , !5 2 ! .
n: . =2378.> | n=25 ~Ti, TiClL, & 5 , 3.
(0! .
87 X 50 , Cl &5 100%-59,89%=40,11%, X:
(=5N,(! n=25 -Pd4 X —-Pd, A —PdCh Z — [PdCL]?.
A = PdC}
B = Pd
C = AgCl
D = Hy[PdCk]
= C|2
Z= szdCh
2.% (1% 32 .
PAChb+ 4 +$,4 =Pd3+2% |+ 4 ,H
42+NaOH=N$4 3 4 ,+ 2NaOH = Na4 3+$24
3Pd + 4HNQ + 18HCI = 3H[PdCk] + 4NO + 8HO
H,[PdCk] = H,[PdCL] + ClH H,[PdCk] = PAC} + 2 HCI + ChH

Ho[PdCl] + 2KOH = K[PdCly] + 2H,0
PdChL+ 2 HCI + 2 OH = ,[PdCly] + 2H,O

3.8 4 . % '5 10 0o 2
4 (1 1, &5 110 PdCh7 (

(

n(CO) = n(Pdct,) = "(C! ):0’00322 =0,0016

45 1 4 5 £ )=—20010 ome=16%.

2241224

4. 81 1 &5 % co 0 & &
(1 2

41 10 1 0 510 ( ) & 3
((% (! & & - 7 3 ( ( 7
1% L& (- o, co co %! 7 &5

358 ! 7 & !
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1.1

4 .y ( ! & 11 ! 10 (
2 ! .5 %! 1 0 5 3 , ,
( ! (( ). $I1 ! ! 1, 10
(v L ! 10 ! 0 : -3l 3 () ( 5 -23 ()
5 234 () -3 3 (D); Ni(H.NCH,CHNH,)s* (E); Ni(H.NCH,.CH, $ 2)e” (F);
3- I -1 (G); 4- I ( -1 (H); 3,61 3! -1(); 1,1-1 3 (( ()
F
OH CH,
| cl H.C OH
Br L M |
1-1_ 10 o B , I( !
0 2 10 ! ?
o ) #( ), 4 (! ), G 3 ), I @3 ), L
3 ), M (3 )-
1-2 ( ! O 10 0 0
Br Br
I
Me H Me Me Br éf
B __\ >=‘(,
Me H H
F F
HN/\ (\NH H Lo w
H,, LwNH o HN, 2+-\N | cl cl |
NI " Ni Br Br
E N/| NH HN/‘ \H
H HN \/NH
OH CH, OH CH,
H/// \\\H
H H . H,C OH H3c;}\/H}"OH
G — K %
1-3 7 110 ! 5 2 7 %
11! 7 5 ! ! 10
>( 1 0 (( l 0 ! ! 7
(!
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Cl

(CH,),,C(t-Bu),

y (CHz.
COOC(t-Bu), 3 (
oo 3 510 30 3&
(0 1L ). ? ( 2 7 1l 2
(! 0 5 &

1-4 Pl 0 1 !

. I (! 3 & I .

; . ? 20. 5 2

( ! 13 10 (

10 ( 0
r2 0 2 ! ("1
Il & 0 , (0 2 0 (!
( 2 32 L ).
2.%

( ! (% ! 1982 3 10 110
(Wiberg et al) 5& BulLi ( > 0! % 1985 3 3 1
(Szeimieset al F ! ( 5& O

1% MeLi  1,1-! -22- (0 ! )-31 ( ( e 7
1982 01 ( ! (1 7
( ! 1 , .7 ( I 5 1
. & 2 ( ! ) ( !
I(1& & .
2-1 ! 1,1-! 22- (0 !
3 (( , 10 1! 110
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Br,, hv

H,0 Br,, hv Na
AC — — » CH, —— CHBr ——» CH; —>
CHBr,
i o
Na AICI, to NI, t
—_— N —_— -

— EtBr

cl Cl
cl, Cl cl, CHBr,
—_— —_— _— cl I Cl
KOH
Br Br

(
)

2-2 (! b, 7 . 7 I 5
2 3- : 3& ! ! T , ("
( 32 (! I Br,. 11! !

BulLi
Br‘<%8r —_—
A
[1.1.1.0]
( )
2-3 , 1 L 1 (! ! (
, 1 % , (11! (! )
(( 5 « » | 3& :5 (7t (
! 0 O 11! - 1310 ' &5 !
& ( (! Y % 5 ! . &
« 112 32 »: ! , | &5 (!
,5 17 & ! !

2-4 32 (! ! JCRI;, )( 132 , 7 7
30 30 I'5 1% % ( '

*—M* -— ﬂ» CFs—QBr

3.4& +
n # —
I 2 2 2! (¢! > ( ,
? ! 3& ( (! ! 10
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> ( ! 7 3 3 | & ( .7 105
21%( ), !'105 - 16% () — (! 1n1.. 1 10
5 140/ .) '5 — 4,5 |
( | 7 1 ( !
28 | 1 & 1 1 10 $ 0 '5 (V)
=, ) (1! ! :
n=500/(10+T ), 3! 0!l  ;V=55+18T,
? ( ! 7 %! 0 | & (15
171 ( % ( , .7
&'l 5 64500 /
'0 10 1 % ! (! «
I % —10! 1 % 106 ?».
3-1 ! , ! % | 0 I &
16- 1 .7 (1 10! 2 1 1% ( 10
211 % . % &' & ' ' ( # o (
% # (& ) ) , & .
$0 I & (1 3! 10 (5
111 ( % ( .$0. [Ojo- 3 3 1 & 0
( o ,
d[giz:l :'k[oz] [Oz] :[Oz]oe_kt
16- 1 n =500/ 10+ 16)= 1¢3! orr
V =55+18:16=343 )
F 3! 10 &5 t=*7
1 %1 k=pinl2e 49 2% 5 gy
[O,] 16%
# 0 I & 1 =343%(0,21- 0,16)K19= 326( @a
Lo 10 [0,] = 21% »e™ °2/%%®) = 183%
# 0 | & 1 =343%(0,21- 0,183 38= 352§ da
I( % ! 10 ‘U =2x343 %0,21 -0,16)x19 =652@ da
>1 1, (! 10 %5 %! 0 | &
! 8%, (! % N 0 - 2 !
3-2 | , L1 0 ) 16- 1
! M (. ( ( & 37°)
|
25 [ 2 2,841404,5 8,314:310 128¢).
64500 0,326 101,3
3-3_ | 5 1& , (1! 70111 6-
11- 1 3.

U, =163x(0,21- 0,16% 31,3= 25b@ &4, = 253%(0,21- 0,16) 23,8= 30LE dFa
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: ! & 248 (!
600° ( 4 (10 ( 32, 11
1% L, A . .
( || 149,5 " ).
NaCl ( ! #,
( I %
2,87 . | ( & 115 1 1!
$  (w(H) = 8,39 %). | &
1! (11 I(
% & 47,1 15 1% Kl
4-1 %! 11 . ( 10
3. .
87 ; - L . 7 ! (
| .
3. +4HNO;= 3, NOs+ NO + 2H0," — NO,
- NOz+ NaCl = MCl + NaNQ@, ! n(MCI) = 3n(NO).> ,# (MCI) — AgCl, A —
Ag, ! — AgS, $ — (NH,),COs, %— Agl,

Ag,S + Q= 2Ag + SQ,

3Ag + 4HNG;= 3AgNGO; + NO + 2H.0,
AgNOs;+ NaCl = AgCIl + NaNQ,

AgCl + (NH,),CO; = [Ag(NH3),]Cl + H,O + CQ,
[Ag(NH3),]Cl + KI = Agl + KCI + 2NHs,

Agl + Kl = K[Agl ,].

4-2 ( . 32 . ( ! % 1

Ag,S + 10HNGQ = 2AgNO; + H,SO, + 8NO, + 4H,4
Ag,S + 4KCN = 2K[Ag(CN)] + K,S,
Agl + 2KCN = K[Ag(CN),]+KI.

4-3 32 1 $.

(NH4).CO3= 2NH; + H,O + CG,

4-4 (1 ! ?
| (! 13 1
5. H,CO3
% 10 ( 1!0 1& 7 ! H,CO, 5
1! ! 1 ! 2. . (1! &1! 1989
(1! 1,10 (! I 22 1
1! ! L % ! Lo
( ( & ! 0! ( . % (
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% (! ! ! 1% o, 1% &1 1%

I H,CO,. # 0 32 ! ( ! .
( 5 ! ! . ( (
5 180000
51 " ! ! H,CO; .
[ 5( & ! 110 !
/OfoO
HO—< >VOH
OfoO/
5-2 | H,CO;, . &l 7
5 35& (% ( .
kt=1In 2, . k=1In2/180000 = 3,860° -
1! (! 25° ! 0!
! ( ! I :
H COgesC 04 (rizp) CO4(rip)esC 0y (ras)

COL(riap) + Ha0 HC 05 + H* | HCO5 eC0Z + H*
Ki=588,K=29,76 -/  Ku=4,510" Kp=47-10" /.

5-3__ ! : 1! 1! ! 0!
2 I

[COAl53 [CO] + [H2COx = KaH 2CO5] + [H2CO4 = [H,CO5 (K1),

K(H,CO) = [H,CO3)/ [COo= 1/(Ki+1) =0,0017,  0,17%.
5-4 ! .
1! !

) 11 .

[H'] = [OH] + [HCO57] + 2[CO;7T.

! ]
[COo= [COy] + [H,COy + [HCO57] + [CO™].

55 . [HT ! ! p(CO) 1! (rr.
(.4). I( &l .7 p(Co)>10* ! pH
lg(p(CGy)). 0. : ( I $ (! !
! 10* 10 .

| [Coi = Kh—l-p<00(z>.
.4 5 L7
[H] = [OHT] + [HCO3] + 2[COs*] = Ky[HT ™+ Ka COJ[H T + 2KaiKo CO[H ] =
=KoHT" + KaKn pCOHT" + 2KuKaKn 'p(CONHT™ (
15 ! :
[H+]3= Ko[H'] + KoK p(CO)[H™] + KoK oK p(COy) = [H](K o + KasKi 'p(COy)) +
+ 2K1K oK 'p(COy).
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) &l , 7 2KaKaKy 'p(CO) D 0, Kw << KaiKp 'p(COy), !
( ! ! :
[H'] = (KK 'p(CO)) %= (1,51-10% p(COy)) ™,
pH = —Ig[H] = 3,91 — 0,5-1g(p(CQ).

6.0 °
Ne
5.5 \.
4 \.
5.0 \.
Ne
L a5 e
Ne
4.0 \.
Ne
3.5 \.
3.0 T T T T T T T
4 3 -2 1 0 1
19(p(COy))
6.5
&, X % + '& & ,
b # - b
# ( & (&
& & & . & ( &
»
120,7 2 I ' ( & ! (! &
1! " # 1 2 1 1 ! 41,5 1%
(2 111 " 0 #, . (! 1,05,
! 150 . . . (3. ( ( &
(! 1! o & . $ ! 1! 1
2,00 1! Na,S,0s. , 7 (3 3 32
14,00 ! ! . , L I (!
1! 0,3883 K,Cr,0O, . HCI ( ( 352
% 1% KI/.
6-1 ! ! 1! | —#, #3$
(7 0 ! .$ (1% 0 10 3.

#+ |205:?+ |2 (1), |2+ Kl = K|3,
I,+ 2NaS,05; = 2Nal + NaS,0O¢ (2, 3),
K.Cr,0;+ 14HCI + 6Kl = 3} + 8KCI + 2CrCt + 7H4 (4).
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2CP" +6- =2 r* 1
21-27 =1, 3

n(K,Cr,0;) = 0,3883 / 294,2 = 0,00132 ( ); n(l», 4) = 3n(KCr,0;) = 0,00396

n(N&S,0s, 2) = 1/7 x 2nd, 4) = 0,001131
0,0005657

, N(lb, 2) = n(NaS,0;, 2)/2 =

n( . 1) = 10n@, 2) = 0,005657 .>1 11 ,: ( .#, 1) = (0,1207 4
0,0415) :
:0,005657 =14 ( ).> #-—4 .
41 | 71— . (1)=0,0415/n@ )=14,67/
n M( ), /
1 14,67 -
2 29.3 -
3 44,0 -
4 58,7 Ni —"
5 73,4 -
6 88,0 —
I —Ni(4 ),
6-2 % i rron L 132
?
) 7 ' (! - ' : )
6-3 ! 11 (! ! !
! 22 ) ! 1 ! 20
: Ni(4 ), 5 ) ! 4
( : 4 && ]
3( L- " 0 ( 10 10 ( 4 10 4s, 4p
Ni, 6 I | C $:4 ! 4
(! 110 2 5& 10 3d- Ni. 4
(10 10 ( 10 ((( 110
1) ! 4 _ ( 10
(
7 ! $ 1% 0& !
' (
6-4 $ (w( ) = 28,18 %)
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$.( % $ — Mn(CO) 1% O %
! ( 1! ( ( .1 10
%
OC—I\i'In—I\i'In—CD
[ [
o596
Mn, (CCD,,
6-5 ( ! .7 & 1, 0
110 . .
K(+1),Cr(+6%07, Cr(+3)Chk, Ni(0)(4 )i, Ni(0), Mn(OR(CO)o, K(+1)I, K(+1)CI,
Na(+1»S,03, Na(+1)S,0e.
7.
! && & & | XYy ( %
! ). 4 0 1! ! 30,73%Y.
7-1 XYn. ) (1%
32 &
5BrCl +3H,0=2Br,+HBrO;+5HCI
7-2 1 (1.1 n (O (7
n=1,3,57
73 |
1 n, (1132 3
XY3 — >( (spd), XYs - ( (spd), XY; -
( ( (sp’dd).
( XYa, (.1, 5 ( 111 (! 500 .
!, 1 (1) 3 32 0 1! 32 ,
025 /.
74) (& 0 7 1 5 ! ( :
7 =32(! 10 0 ).
2BrCl ® Br, + Cb
025" 025
=2 911 K
Q 025° ¢
7-5 2 ! Lo 12
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DG = RT|nKi: _223

C

76 | o x 3 32 11 2
32 .
4 | Dn=0, !5 : Kp = Ky = 32.
3 32 11 (! - n(BrCl) = 0,25 — 2y, n(B) = n(Ch) = 0,25 +y,

3p=_(025+Y)"
(025- 2y)?
c(BrCl) = 0,061 / , ¢(Br) = c(Ch) = 0,345 /.

y = 0,0945;
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1.6

10 1! 2 ( 2 ! (( I 30
3& (
1 10 1! 4& 31 (! ( # |
( 21 | ( % 10 L 1.1 # 31
l 7 (' (1 5& & ¥ I 5
|1 |
1-1 ! 0 % 10 11 20
I (1! F G- RS- & ).
4 1 32 0! 5 0 !
, NI 7 #—( CaHa.
5 3( ! ((5 ,3 (( (( .0 1 10
S ( , 11 B=3! (( C—(( .
A-30 ( ,D-  -2,E;- 2,E,— - -2
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1-2 0 32

| .& '# ! 110
(0 10 ( ( ?
(7" 0 0 ((
I 0 ( ( %! 3! (
Lo ! ( 3& (.
1 &5 ( > 3 (
!
( # &5 Pl 10 ! 10%.
1-3 3. .
T ( - . %! 3! ! ' , . 5
1 11 ( o5 (1 & . I 2 3.2
I 2 . .
1-4 ( 0 ( 5 3 FD G?
S\2.
2.%
? (0 10 5 & . 11& 01 11
! 2 2 2 ) ! .4 ( (! 352
- L (3! 2 12 .
1 & &( 2. ( & (100).
y 2 1 12 ! ! Il (0
(7 ! 11 . '53 2 ! (' . 1),
I (7!'!  (100), (110) (111).
7 1 ! (7! (110) 0,0838  /A? (1A=10" ),
% (7' (111), ! (7'! (100) 5 3,06-1C° / % 0. .7
I( [ & 1& ,7 ( & ! (7", &
(!5 :
2-1 ( (. % oyl 1( A.
! 2 o (7"
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1,413 i i

a0
1,415
(100) (110) (111)
$ (L (7! (110),( 0o ,((5 2 !
2
(7 5 J2a2, ! ((5 (7 ﬁzao
I( (7! (111 (! Lo ((5 05
V3a}
(7 = ! ((5 (7 :+32.
>( , &1 13& 1o, (7 ! Io11! (
2 ! X
2 1 2%/3- /2
— £ .= _=00838 £="Y2-00838 a,=316A
J2at el Joal % =3
2-2 ) 1.
(0 (100) 1 0! (7 a2, 9,99-10°° 2)
3 ! 11! 1 :
m=r >S5 = 30640 °x999x10 % = 3056X.0 2( ).
) &1! , 05
- 22 23
A _mxN, _ 305740 x6024.0 -18394( / ). 4 _
N 1
2-3__| (70 (110)  (111)( /3.
(17
-22
r<110):2= \/_3056’10 = 433X0°4/1 2
22x999><10-2°
m_  3056x10 % axs 2
19="= =177x03%a/
TS aageno® o
2-4 11 &l o, , 2 10
Lo 1! (71 !
4 | ! 111 .. % (701
I( (7t 5 | ! (110)
ccr . % (7
! , 5 (111 (0 0
, ! I 20 && ( & ). ( 0&
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(1 .2). (0 .13 (132 : !

! ! 5 % &
2-5 : ! (( 5 - - 4- 1 10 (3. !
L (101)  (101).
p(1x1) c(1x1)
$ & ! (101) (102).
05 ! 0 (3. (!N 5 0 10 :
4 | (132 0O 10 0 (L )
I( p(1x1)54x0,25 =1 13 I( (1x1)54x0,25+1=2 132 .
, ! (132 (L )X p(1x1) 5 4x0,5 = 2( 132 ,
I( (1x1)54x1 =4( 132 .
> ! (132 (1 ). K p(1x1)51x1=1(1!3
I( (1x1)54x0,5=2( 132 .
2-6 I( &l! , 7 . 5 % 4- ! (132,
1! 10 (3. . 5 (O , [ 40% 1 &
: 5( 1,7 & 1,2,3 4 ' | :
87 ’ 1-S 5 4, 100% ( &5
( 0& : 7 ’ 1-S50, 0% ( &5
( 0& . 05 & ’ 1-S (O :
0,4x0+0,15x (1+2+3+4)=15.
4 (O ( 1,5/4 = 37,5% ronl !
2-7 0 &1! 7 .5 15% 10 5% 10
3 (0 (100), | 1 (0 ’ X-S.
( 0& 1 & .
; 1 ! I( , ! -
! ! 0 ! 1! 7 1 & 1%
! ’ 1-S. ! 3 ! 1 &5 I :0,15%4
+0,05%x2 =0,7,, 1 10 1 5 30%.
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3.( I &

. &! ¥ ( (13
( (% Y% 11 (!
1, 0 1711 ! 1,7 15 ) .
! L7 ¥ 13 1, ( 10
o 3 Il 05&), ( &! 1 2110 ! ( L
10 11 . ! ¥ 1 (! <
& 1,24 (! 1& 411 174 1%
I3 (% & ((!! % . 0
( % (! ! 11 HCl. ' 3 || 1,09
(. ) ! 195 11 10 054 2
11! ( 10 (! 1 I 1
) 7 1 1,5 N (! 1, HNO,
1% 19% 5 ) 7 11,7 (! 10
( 0 /5 1% (! & !
3-1_) 11! 3 7
! (1
4 1 & MgCl, Mg4, ,7 ! ! - (Mg
1%  ).> 1& 7 ( 5 & 12 (
! (& % 1 5 ) 7
! L (& . 5 :
. 1=(1,74-1,2)/(1,2x2/16)=3,6( ).' -
> ! 11 15 :

. 2=(1,24-054)/(0,54x3/10.81) = 4,67 ( ).' -

4BN + SQ: 28203"‘ 2N2,

B,Os;+ 3Mg = 3MgO + 2B,

Mg + 2HCI = MgC} + Hy,

MgO + 2HCI = MgC} + H,0,

C + 4HNG,= CO,+ 4NG, + 2H,0.

1 - BN.; ! ('3Y 5 !
7 (5 ( 1% (! I( 1,( )

& & 1,— ol 0 ! Lo | $ ( ,
(10 (0! & ( | 3&
I( BN ( 5

3-2* $ 1,1,,1,?

%! L& 1 & (! & (
I, ! ). $ ! 10 I 3 - I
M ), ! ( L ! 7 | (K,
1 3 )
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3-3 & L ( 10 0 (
. ( 2 111 )2
5 | & ' ( ;! 20
% ), 5 Il B0,
4.5
? | & 5 (! o ( ! .
! 7 ! 3& , | & &
! 5 608 (1 427 . 1 459 |
! 5 1115
4-1 ! 2 32
NH,CI( ) === NHy( ) + HCI()
4-2 | (3 I | (! 110 ( O
Pg = P(HCI) + p(NH)  p(HCI) = p(NH) 5
(! 427°C: p(HCl) = p(NH) =304 a,
(! 459°C: p(HCI) = p(NH) =557,5 a
4-3__| 1 (! 30 ( O
Kp=p(HCI)" p(NHa).
Kp=9,0 2(427°C); 30,3 ?(459°C)
4-4 | 1 CG 32 (! 427 .
DG%,= - RTINK,,= -13  /
4-5 1. &1! ( CH CS ( 400-
500 ( ! 32
!
DG4, =DH? - T,DS? (1),
DGZ,,=DH?- T,DS? (2).
) : DHY=DGY%,+T,DS? =- RTInK,,, +T,DS’ . &1!
3. ! (1), !'5 ' DS?,=249 [/ x .> DHY =162 /
5.(
. (%! . 1 . ! & (N} !
KI, H,SO, ( 3 32 ( 01 /) (& 1! o0& .
311l & 1 3 1! NaS,0; ( (5
: 3 32 3.. % 0,001 /). % ! I &
3 L 1! $4, (( 5 3 32 3.. %
0005 /) !& . 1 t=40 1 5
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! -1 ! 3 1! % ! & 7 1 1!
NaS,0; (&5 3 3& , (( I( ), 3.
% !5 &5 I t=286 3. % 5 & !
& 1 1! NaS,0;( &5 3 3& ,
(¢ O I 0 ) 1 &5 5 ! (' t=
137 . 1 L. & 1 1! NaS,0;5 ( o), 1
&5 5 ! (! t=197 .
/| & &) '# & . &+& ( & '& )
NapS0; T , NaS0; &
(& & + & 2:1.
5-1 0 3. ,7 ( & 0 ! !
2KI + H2804 = 2HI + KzSO4,
$4,+281=2%4 + 1, (( )
I, + 250 = 2IN + SO (%! ).
5-2 , 1 1! 5 1 1 (N 1 $4,,
(! t=0.
3 I , (! 5 .
15 , (% ! . ( 3
(!5 ) 5 & 0 , "5 ! L
1 ( 5 ! ( 2 (n ), 7 ( 5
& 0,5n : > | 1! 1!
(7 &5 H->0,, ( 1
5-3 ( 32 $45. % ! 32 .
13&
N - 1 2 3 4 5
F 0 40 86 137 197 .54
3 3 $4,, / 0,005 0,0045 0,004 0,003%,00 | 0,00262
3 5
( (0! ( % ( VA
10 0o (! X
InCp=1In ,,—kt, ! k=0,0026.
54 | , I 1 t() "! 15 , 7
("N ! 0,75 1! NaS,0; 10 ?
41! , 10 1! 10 (.5-3:
|n0,002625 =In 0,005— 0,0026;, ! t5 =249 .
55 | , L . 5 1! Na,S,05 ! 10
3. % ,7 ,!5 " 2
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F, + 2HN; = 3N, + 2HF.

7

Ca+ Q + H,0 = Ca(OH) + O..

% 3 3 M ' , &5 H,O, —
0,005 .) 32 , 7
3 3 0,01, , 10
6. Ox-Red 7
4 5& I %!0 0 Il ! - 2 (! 0 2 5
3 ( & ! Yy (3, ! &5 % . !
¢ ) 1 7 5
.3 (1 !
& S0 1110 (! 0 (0 .
$11 ( ( 31 1 %I0 110
N | | 17 (o
298,15
17 $( 3 (Ox + z €D Red) E,
| 3N2()+2|‘r()+28_:2HNg() -3,09
) Ca(OHL( )+29_:CQ )+20H() -3,02
03()+H20+2é202()+20H() 1,24
6-1 ( 3& $
$( 3 ,
2H+()+Ze_:H2().
+ _ RXT £\ 2
E(H'/H,) = - ZxFXIn(p(HZ)xa(H) )
6-2 | 1 10 (
0 110 3. - %! 1! rr Il
! I7 , ( ! 0 1!
%! !
4 - 32 ( & ( ) ( , 7
’EOX > ERed'
? 1 32 %! 11! rrd Fol
! 7
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6-3+' ! 1 ! ! - 10
( 10 L, 7 (& 0 1! %! |
! 17 (1 298,15 .
C ( 0 110 3. 1) !
2) 17 :
CE°= EQFo/HF) —E{N,/HN3) = 3,06 — (-3,09) = 6,15 |,
FZ()+2H|\E():2HF( +3N2() .
C.E°= ERO5/OH") —E{Ca(OH)/Ca) = 1,24 — (-3,02) = 4,26,
03() + Cq ) + Hzo = OZ() + Ca(OH}( )-
! _ ( ! 2 | & -
2 32 115 ! & ( 1
)y ! 1 ! ! 5 (!
! 3 17 1) !
2) 17 .
Ka = exp[38,92GE] = exp[38,926,15] = 9,610'%
Ko = exp[38,92GE] = exp[38,924,26] = 1,610
6-4+ ( 11 I ( . ! 10
( $.0" ! 012 !
10 | & - 10 30 %0 3.
$ 10 ( 3 1) ! 2)
17
E=E -2 T><|n(a(H*))'2 -g - R >Tx|n10><lg(a( H)'l)
= E - 0,05% pk
_ R xT 2 R "
E,=E - 2xF><In(a(OH)) = E +=— xn10 id o OH))
= E +0,06%xpOH =E +0,06% 14- pH =E  + 0,83 ,089 >pH
21 | & -2 32 5 7
EOX = ERed'
)y 012 ! 5 .7 !
10 ( 3 I ! & 10 (!
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350 |
-4.50
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# 0 ! $ 01 !
( & 1
7.8
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, L I XVII 11 Il
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P
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5 (rr)
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$'1 0 ( , 11! 7 1

30 : ! , 7 & : (1& «t», (! 32 (
rr & ( %0 ( 0 ) — ( 1& «—>. D (!

( &5 2 1 X Y (! —( 11 ) 4 —

( 1! , Z— (%' % ( (0 )

| & o« ! » & # & &

1.1 & 11! (1 ! -G, M, X,Y,Z.

$.(% % (0 ) ( -3 (Zz-%,4).87

! 352 &1 2 ( ! 11! .! &l

( )2 ! ! , 7 1 C-51L 32
(! 5 2 2 Fol 1! & #, . ( , 5 ! :
& 1 , 11 # (! 5 0 —( 10 1! (1 +4).
) 5 o —( 11! .7 (! 01 32 ." $, N, O,
45 F, Ch, Kr, Xe — 1% (! 5 2 &5 ( ( ),
7 ! HNO;. > # — NH;, — NH,NO;. 0 &1! !
(0 3. , 01 Z-%,4,D—-N4, ! X=N,Y-0O
E-H, ! 5 2 & ! && ! & (F - Li,0)

! & (A -LisN), (

4 : o1l %! Z (1 ( 1'% &
1, 3 1 %! ! 0 >, &l
&1 11! , 0 %! 5 ( & :G-LINH, M —LIiOH
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A B C D E F G M X Y Z
LigN | NHz | NHs;NO3| N, H, | Li,O |LINH,|LIOH | N, | O,

1.2 0o 10 3.

O, + H, = H,O (tOC ),

2H,0 + 2Li = 2LIOH + H;;

N, + 6Li = 2LisN;

LisN + 3H,0 = NHs+3LiOH;

NH; + HNO; = N$ ;N4 5;

N$ N4 3 = N,O + 2H0 (200 );

2N,0 = 2N, + O, (500° )

N, + 3H, = 2NH; (t=450°C, p=250 , . Fe,Pt);

2NH; + 2Li = 2LiNH, + H, (220°C);

02 + 4Li = 2L|20,

Li,O + NH; = LiNH,, + LiOH;

L|NH2 + 2HN03 = NH4N03 + L|N03

1.3# * I ( 3. 52 4 1 9.

N, + 3H, = 2NH; (t=450°C, p=250 , . Fe,Pt)

02 + H2 - Hzo (tOC )

1.49 % & ( ,( 1 1 4

10 0 2 ( 0 |
( 0 1:1. 05 &
2 %
. =2.0,5+28.0,5= 15
;[ =29/15=1,93 ! % (
2.) -
; 2 (! : 02,9 5 1
! ( % 110 5 20 | . .
(( & '$8 (! 10 ( %! (%! 10 (3.
, R < I Lo (! 1! (
(CD;0D).

2.1 # 11 5 1 ( ! 2 (3.

( ! ( ( 22 | 1), 1

13&
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a
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8798

77 ?27>=
7<@
?27== ?7<? M
f il MAA,ML ) M
\ \ \ \ \ ‘
2.34
1.20
712  6.89 TuMm'sH 305
H | 671 ' ‘
| I | Jl
8 7 6 5 4 3 2 1 0
PPM
2.2 ' 8 (O ( (3. .
3 ( 10 10 1 0 110
( (! 7 (! NI
1( ) 2
BC X 6788 /
@79
B @7:<
@76? @7=6
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67,< 679:
) 679: ) 67;<
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N
~
5 6
NN N
2.1 111 5 1l ( ! 2 (3
( ' ( ( 2.2 | 1)
(3 ( ( ! )
1
4
! 2
13 6
5
>| 3
2.2 ( 1 8 (O 2 ( . 3 ( (%
( 0 10 0 1 0 10 (
(! 7 (! N1.
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( N 1(! ) ( N 2
6788 6.62
6.72
@79 a60 6.62
5.92
B @7:< 6.84
@76? @7=6
67:< 679: -~
) 679: ) 67;< 3.83
( N 3 ( N 4
6.71 234 7.38 9.61
712 7.03 DN
6.89 7.27
3.05
~
1.20 383
( N 5 ( N 6
7.62 6.44 2.05 7.60 174 968
6.94 AN 7.40 N
3.83 6.06 6.63
N~ 7.33
3. '
$. % 11 ! 1. 0 2-3 3
1. 0 2 5 5 |1 1, - 1 !
( | 1 Y). (% 22
o 5 5& 10 # (! X) . !
# 5 1,625) ! % 1 | ! .4
0 ( 5 111 D (( (15 HCI 111 #)
5 & & 4 (w(Y) = 49,70%).
31 & 1! A,B,CDE ! 1 V.
10 3. ! 110,
< I ! 0 ?2.YsHe. 0O &1! 5 7
( 10 X Y 5 12.° .7
! -3, $ o> | # —_— NH; B >
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((7 5 0 1!! I , $
1 2 I D). 4:
87 ! ! ., Mr(E) = 10,81/0,497 = 21,75 (LiBH

3.
3 %5+ 6NH; = 2B;NgHg + 12H,
3NH4C| + 3L|BH4 = BgNgHe + 9H2

A B C D E X Y
B3N3Hg NH3 b6 NH,CI LiBH,4 $
3.2 ( R &1! , 11 !
! % ( ? (
5 2 111 | HCI(1! R).
) 0 % 2 ! $ ! 0
N5 %& .> ! 1 % (5 32 (15 |3
| 11 & | , , ( 11 —
I $
, ( (15 (1! R):
HC
C
=N
H//B\N/B\_Cl
Cl 7\
H H
1! R ! 4, &&1! 1! T.
3.3 ( (1 5
283N3H9C|3 + 6L|BH4 = 283N3H12 + 3BzH6 + 6LICl
HH
He Bo _H
N PN o
S
H /\ ~B
H N\ H
H H
! 300° 1! ! 5 11! G.
) (0 (11 ! ! 11 G &5
2 1 ! 15 3. , (0 1 %

I 3&
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& ! I 32 G?

BgNgHe =3BN + 3|‘b
1! G - BN.
$ ! : ! 0 110
1 30
35 (& 32 11+
1,7 .7 ()3 L1l 100 (!

'Q’H(A):-55o /| ,QH(G)=-250 /

BgNgHe = 3BN + 3|‘b

QH = 3QH(BN) - QH(B3N3Hg) = -200  /
11! BgNgHe:

N(BsN3Hg) = 100/200 = 0,5

m(B3NzHe) = 0,5=80,5 = 40,25

4.8 -
' Lo & ! & 2! Lo —( %!
! ( & ! 10 , 58 1. &
& .7 % Ptos 03 .;2 ( %1
! ! 2?2 11 , ! 11 Lo
! ! ( I
, 5 ! 521! %2 | 32 ,
: ( 10 : ((5
(10 0 ¥ 9 I ! , 10
10 ( 5
( DcH é)98(graphite) ! -393,51 = _1,
& ( S(2)98(gr): 574 = = - ( 11!
DCHS98(diamond): —-395,4 = _1, Sggg(d): 2,38 = —1= -1
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4.1 11! ! 2 DG (! ( O @ ® Ca

# , | 3. 5 % 11 & (! 10
0 ?; (! 30 O % 1 3 ( &5
1! % ?
DH20g=DcHzogq - DcHzogq) =189 = " DSes=Shgq) - Soagy= - 336 =
1_ -1,
DG(2)98 =DH (2)98_ TDS(2)98 =1890+ 298x3,36: 2891 = -
' $ DGSQS + (gr) ® C(d) 2’9 = -1
" 0 & /0 5 .
o + + + , ( | | (
(3 ( I I 12 I 5 Il ( 3 | '5
! () ! 2,25 = rg - 351 = 7°
I &1! Y ! 2 2
! ! P Gp, - Gp =V(P2- ), V- L '5 2 I
DG (0 ! D(DG) =DG,, - DG, =DV(p,- p) (DV —
13 10 '5 (! (0 ! ( |
(! ( )
4.2 (! ! (0 @ ® Coy & !
& (! : ( : ! ! 310 .
; / l, 1?2 1 ( (134 - -
# 5 0 7 / 5 Lo 3,

Mgy _ 12 x
Fgn 22540° x

M -1
— S 12X 34508 3x

~=53340° °x

D(DG) = DGy, - DG,, =0- 2890=DV(p,- py) = (342- 533%.0 5(p, - 101300,
' p,=150 (15 )
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5 5, ' <-= (0 @ ® Cq
( 5 % '5 > % ! 5
% 7 2 1
43 | &1l (. 0 (0 &, 028
dT DT DV
, ! 1 (! l. ! (0 a ® Cq
(17 ( ! ) L. I (0 (v |
2500 . I & (! (710 ( O ?
DS( 0 (gr) ® C(d) % ; DV( 0 (an) ® C(d) % ;
> (0 dp % :
dT
* + 0 5

Dp=p,- py=p;- 1540 »%DT :ies_sxzsoo 300 » 3940°

-1.91°1C
I py» 540 (54 ).

$ &l 7 ! 1 (0 ( & ! 5
(75 , (15 10 10 1110 !
( (3 (! 110 ( 0 ;o & (!
(1710 ( O (1 I 2 %! (3 (
4.4% ! 0 ((.1)-3)_* , 10 10
(5 : (1
31 1,2 3¢ (! L , !
3 ) 7 5 (1! 0 %0 0
' / ' ),
1- ( % 11 ! 1o ),
2 — ( % 1 | 1 10 | ),
3— | 3 (% 11 . 110 ( ).
' ) 3 (0 m® Coy ( & %5 :
7 (U & (
' ) 5 0 I 1 | , (! 110
( !
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( & (.. 132 (% L (.. 13,
7 ( .2 11 ! (1! 4700 .
# + 3 1 : , . 3
) (. :
DS 336
= =p - 1540 » —— DT =— " x4700- 300 » 7,740° 7
Dp=p p . » o7 _191&0_6% 0»
( 5 ! ( .. 13 p »9.2
S 5 5 ( ! ( .2 11 (124 ),
7 110 0 0o ! 10 '5
( ( | |
5.( " :
$ &l ( , 1 ( 1 (w(C) = 16,9 %,
w(N) = 59,15 %, w(O) = 22,54 %, ! $ 8; ( 8,1 (! ),
13:16734 . ) (% ! 1% 2011 3 (& 310 110
(%11 11 (0! :

Lo — — — XL

7 ( : (! I (5 R
( % 2:1:1, ( # &5 % 0 (15 0
I & o] ! 1! (! 1
5 22 . , 7 (! ! Z, 1!
1% 5 % ( Y (W(N)=32,56%). 0 2 NH;
5 Lo 1 : 1. (3 1.
51# ! ( X,Y,Z,A,B,C C,.
Q NH,
N~ SN NHNCO <——HNCO + N,
C, c
o) NH, (@) NaNO.
H O™ Eon HJJ\N’NHz HCIO,
H 10
A
A B C C X Y Z
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X Y 5(! 1. 02 ( (
3
5.2 0 (
0 0
)k ) — /) T HNCO
H N\N+ N, H N
Y
I 32 X 0 (! 10
( O !
T, C|k10°, 7| t,,10°,
25 59,6 1,16
20 33,6 2,06
15 27,0 2,57
10 10,4 6,66
5 5,9 11,7
0 2,77 25,0
53 + ( ! ( ( 110 (
1! 13& ).) ( 5 3 1?
( I Il ,
5 ( %! (
kt1/2=|n2
5.4# 1.
0 - 2 32 ( Il
—_ Ea _ Ea - *
k = Aexp(- =2 Ink=InA- =2 - =83.14 %* /
RT RT
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0.0033 0.0034 0.0035 0.0036 0.0037
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COOCH, A B ¢
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110 1, (1K 3 & 5
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D 5 5 & LY, 5 | 4,7 5
158 /
6.1_ & 0 . 7
- 15 12 ( ,
- Y 5 (7! 1 2
A B C D
Br COOCH, COOH /o
CoOCH, CN COOH 5
CoOCH, COOCH, COOH (
0
Br
E X Y
COOH COOH COOH
COOCH, “COOH COOH
6.2 (1110 L 12 ( >
( I 5 0 3 1 (! 111 I
0 31 (& > 5 (11 ! !
. L
7.
o7 K ! ),
( (o0 I 1 NaOH (1 (1 3.
% 1% L. (! LF L,
I( ! % ! 0o 1! B C &
! - ( B ! 449%
.60 %$ 105 % N. (0 # ( & (1
1 % miz, 7 401 608 . . .,
( , 0 ( 5
7.14# (10 ( # .7 7
P ( ! (?)2:
o1l ( % ‘H:N:
44,9/12 :6,0 : 10,5/14 = 3,74 : 6,0 : 0,75 = 5 18
> 1, (5 (‘2 (% ! 7 5
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1 N — - 10 $).

( - — sHgNO, ( , 7 ! 2 ! 4 1 ! N,
o &1l 7 ! - ( ).
> E@)=239%, % - (100 - 44,9 -5,99 -10,5-239=1481%) 5
Co.
M(B) = 58,9 / 0,1481 = 398/ , 7 ( 5 ( 0O (0! 0 )
- ( . 0. 7 - ( 1 5 !
(5 & $” ! ( % 5 1).
> | 1! ,# 5 Co(Pro)s ( Pro( 15 ( : ( -
ProH)
I( ! L7 ! Co, ( , OH o?, -
( ( 5 ( 2 10> — C0,(OH)»(Pro),.
7.2 3. #

ProH + NaOH = ProNa + }©
12ProNa + 4Co(Ng), + O, + 2H,0 = 4Co(Pro) + 8NaNQ + 4NaOH
8ProNa + 4Co(Ng), + O, + 2H,0O = 2Cgq(OH),(Pro), + 8NaNQ

7.3) / . (10 ( .,
3 (I 2
( .7 3 % | NaOH.
( (! 7 ! I, 3%
1 (1,7 LS. % (11! -
2 (! .
, | 10 0 , 10 ||
( 106 | )y % 10 0o ,7
(15 & 01 '
7.4 1 %, 7 7 |
1 5 1 I N 0.)  (!'3Y !
(1 #?
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\_o NI,
5 2 (1110 I d ). 10 17
32 ( (ddd, ddl, dlI, ).
( :
- 11
(o, ( 132 (
(o, ! 5& (
7.5 1 ( )
1 5 I( #
apab
K/L 'L NJ( | % | )
( 0 ( ( 110 1 3.10 ) !
( . % I( , 5 o  ( |, %
! ! .13 1 ! miz« 10 » 10 (
1 1
7.6 10 11 ( 3
! | ( & ( &(& )
) ( 111 (15 $%, 7
11 ! ! ( & & (")
(& (
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) ( 110 (7 $, 7
1! I 0! I $7 (')
(')
) 1! 10 (
(")
(')
) O & (
(")
(')
( ( :
) : ! m ( %! 1.87 "0 "1 ! : :
! ( - ( % ! ( 2 (R D Y
-2 ! 1, (! (! m/iz (m+1)/(z+1), (1 ;
) 1 (. )
)3 5 ! (1! ;
) : ! - ( 5 & .87 . ro
0 ( $ 2 (! % m 4 z 2, (! (! mhz

(m+4)/(z+2), (1 .
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1.8

4 0 ( (!0 ( 1 2 12 025
110 o o I(
5 11! , ! o
! 11.10 10 0 .$11 %! 0
! - ®(Y), & 7?7 .
H202 1. HBF4 F2 I& ®
CeH12N2 B c — '
A 2.BF3 ¢H13FN,O*" 2BF,
1.1 | 1! | #, ® 7
7 1! I 5 1 1 : (
A B C | & ©
) sH12N,0 sH13N,OBF3 ' BF, | ¢H1sFN,O?" ' 2BF,
@ | L | i»
| D | O | @
N T T
1! 1,2 ! (X) % 35 3 ( L
1 ) 5 (! 38,8° ! 11 0,6 ®(Y)
20 3 ! 1 3 3
O/
/A© + 3 ® 4+ CHOH — - Q\Q + B
) ( 32 ! .1 &1 | 3.2 % ( 10
% &1 20 20 0,02; 1! KI 1 &1 % 0,05, 1!
NaS05.4 ! ( ! !
F 1 2 3 4,5 6 10
! |
475 |37 3.4 32 29 26 20
) 3 3 X Y 1 5 |

Ln (XILY o/ TYILXT0) £ (IXTo — Y1) = kt,
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[X],[Y]- 3 32

[X]o, [Y]o— 3 32 (1 1. 1

1.2+ % | 32 .
[X]o=1.2/(35+5 + 20) = 0.02
[Y]o=0.6/(35+5+20)=0.01 M
[X] - [X]o=[Y]-[Ylo
[X]=[Y]+[X] o—[Y]o=[Y] + 0.01,;
RNF + 2N = RN + F + I,
I, + 2505 = 2" + 250¢>
n ($057) = 2n(Y)
n(Y) = n (S04)/2
t, 1 2 3 4.5 6 10
V, 3,7 3,4 3,2 2,9 2,6 2,0
n (S057) = Vxn(S,0:7) = V.05, 0,185 0,17 0,16 0,145 0,13 0,1
n (Y) =n (S0:)/2, 0,0925 0,085 0,08 0,0725 0,065 0,05
[YI=n(Y)/V =n(Y)/10,; 0,00925 0,0085 0,008  0,00725 0,0065 0,00%
[X] =[Y] +0.01,; 0,01925 0,0185 0,018 0,01725 0,0165 0,01%
In(IXII YIS/ LY XT)/ ([X]o = [Y]o) =
= In([X]/2[Y])/0.01, ; - 3,97 8,46 11,78 17,37 23,84 40,55
t, C 3600 7200 10800 16200 21600 3600

k = In(XIIY1/IYILX10)/([X]0 = [Y1o)/t, © 1,1640° 1,140° 1,0940° 1,0%0° 1,1040° 1,1340°

k=11103M1x 2

1.3# ( 32

11

In(EXICY 1o/TYIIXT0)/([X]o — [Y]o) = kt

In (([YT + [X]o = [Y1[YIJ/[Y1[X]o) = kt ([X]o — [Y]o)

In ([Y]o/[X]o) + In (1 + (Xl — [Y]o)[Y]) = kt ([X]o— [Y]o)
d(In ([Y]o/[X]o) + In (1 + ([X]o — [Y]o)/[YD))/dt = k([X]o = [Y]o)

d(In (1 + (IXlo = [Y]o)/[YD))/dt = k([ X]o = [Y]o)

—(1 + (Xlo = [YI)/IYD) " *([X]o — [Y1o)/[Y]? xd[Y)/dt = k([X]o — [Y]0)
d[Y/dt = -k (1 + ([Xlo — [YI/LYD)Y] = =k ([Y] + [X]o — [Y1o)[Y] = —K[XI[Y]
d[Y)/dt = —k[X][Y]
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3 3 0 ! 22 1 I ! I 2
11! ! . 0 ! I
110 5 11 1 .
. 1! 0 ! (1 1!
> (1 & (1! 0,01; 1 1! 1,67
HY(NGs).B,5H,4 ( 1 : 5 6;
1! HNO;, ! Il & & I & ! 25
! 1! 0,0100; NacCl, ! !
g ! 11 & . (! 7 &5 ( 1!
(r 1% Hg™". (( ! :
% &1! 017  '5 | 2 3 32 11 Hg(NOy),.
2.1) 2 1 1 0 2
$ ! ( 5 Hg™*
2.2 32 5 2 1 0
0 ! &
Hg(NOy), + 2NaCl = HgCG+ 2NaNQ
23+ 1 3 3& 1! 0 ,
7 ! 0 0 ! Il 13,08; 13,05
13,05 !
3 3 ! NaCl50,005; , ! ! I
. 0 (% | -
vV +v32 +V, _ 1308+ 13305+ 1305_ 12 06
4 | 1l ( 3 3& 1! 0 ,
0 &1! , 7 0,17 1! . 1%
nacl *Vinac T g (N4, Vg (NO L),
— Cract @Y aci — 0005 x25 — 7
Hg (NO 3), VHg(No3)2 (13,06 _ 0,17) 0,009
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( ! 0 !l 13
0o 10 0 :(! O
(A) (' 10 ®),7 ( !
! 1 10 .
L I 12 1
I( 12 I
11 & 0!
171 l
4 ' 1 .
, & ( 310
L& ( I
) (1 & 1! ( & ) & 05 !
% & 1! & ! (« o
! I & o 1! (I
)y ) & ( (10 1! o (
& 1! & ) (! !
& (& 1! $ =12 ( &
2.4; ! 11 & 0! ?
5 (1 HgS  [Ho(NHg) %, & 1
I 10 3 3& 0!
2.5 &1 ! ! 10 (1%
3 & o 1t ) ))
( 11 5 ! ), 5
I 11, :
CO® + 2H = COH+ HOH
( 11 5 ! )
NH," + OH = NHz;H+ HOH
! () '! & ( (
51 1 (!5 %! .
( 1! & & ! ).
I &5 .10 0 ! ( 15
MnO,). $ 1% C( 1 &5 (!

2H,S + 2KMnQ, = 256+ 2MnO,G+ 2KOH + 2HOH
2KMnO, + 3GHsOH = 3CHC$4 + 2MnQ,G+ 2KOH + 254$
o0&l ,7 3 ! ! L& (.
! ! 17 ( ) !
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l T 10 0 ! 7
1 , ! 0 ! (
'l & 0! & ! e (O , 7 20
1. 0,02 /. 0 « !
#), 2 ! ! I( , 1% 1 L I : 1!
I ! 100 . $ ! 20 ! 12 o,
Il 11,73, 11,71, 11,75, 11,73 (( ), 17,61, 17,60, 17,94, 17,59
(( #) ! :
27 + 3 32 0! 10 ( ! #
87 ! % ! ( 23 1 3 3& 1!
N (. 22 0,01; .
1 51 1 ( 0 ! #, 0 &1! . 7 ( #5
I( &1 ! 17,94 , L. 1 o ! :
11,73+11,71+11,75+11,73
Vhgnoy, (A) = 2 =1173
17,61+17,60+17,59
Vigonon, (B) = . =1760
T 3 32 0! (0
cl- )Vcr = Hg(NOy), >VHg(N03)z
(A) — Hg (NO3), >«/HQ(NO3)2 - 0’0097 ><(11773 - 0717) = 0 00561
v, 20 ’
(B) - Hg (NO3), x\/Hg(NO3)2 - 0’0097 X(17 ’60 B 0’17) - 0,00845
A 20
0 &l1! , 12 ! I ! : 1% (! ! 100 1! :
3 3 0! 1! 20 % ! o ! :
(A) = 0,00561 - 028 /
a- 20
(%) = M =042 /
- 20
, % 1 r, 7 3 3 32 3 32
7 . 3 3% 0! , 0 0 I( 0
L1 0,02 /1,7 ( 5 3 32 |
4 I 5
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(A)=028- 002= 026 /
(% = 042- 002= 04 /

cr

cr

(A)= 026:3545= 922 |
(% = 04X3545=1418 |

2.8 1o ( ! 1 32 0! 11 &1
, 13&
(0, 7@) (0, /
(#)
2008 9,18 13,02
2010 9,15 13,83
2013
: G Y A ( 1 3 3 1% 5 (11 &
( # %5 (1! , (1 &&1!
(! 110 , !
3.4 +
8 ( & I & 310 0110 1!
111, 5 | I %0 ! I )
I 11, 3 12 1! 10
1! ;3 5 .1 %! , I
1l 5 .7 (! ( 3 % 51
. ( 3 3 10
3.1 0 1 ;L L1
| & ( 3 Mn*| Mn 0. .
! ! ( 3 I 298 I &1! &
35&
1| Dng%’ 5398!
/ / -
Mn?* (a = 1, —220,6 ~70,3
1 )
Mn( ) 0 32,4
H'(a=1, 1 ) 0 0
Ho(p=1 ) 0 130,5
. ( 3 I &5
0 PtIH 1 | H ey || MIF" ey | M
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l ( 3 3 j :\’/In2+/Mn !
-%.. ! ( )3 E°.
E° ( Dc° 32,7 ( 5 3 H, + Mn** = Mn + 2H
DG°= - zFE°.
DG° =DH° - TDS® = —(—220,610°) — 298£29 + 32,4 — (-70,3) —=130,5) = 228 900,
o _ o _ -DG° _-228900
Pz =B =0 = 506500~ MO
32__+ ! ( 3
11 (! 298
L. ( 3 (! ! $°, 7
5 113 05 $ ;
a . a
i = °+ﬂln%= 0059g—H—= - 0p5%H = 7x0059%= - 0413
F PH, 1
3.3 3. & 0 (!
1! MnSQO, !
- Mn®* + 2 = Mn;
$4 =27 +%4,+ 2.
3.4( 1 (! 1! MnSQ; (a ,.= 1) (! (
31 ( 3 % ! , .
L ( 3 [T I 5 3 1%
1 & .( (% ! L7 !,
(3 [ 5 ! (1! ,
I 5 )
8 1! , ! ( 3 ! & 1! 1
% Il ) ( 3 , 0! ! 3&
1 | | & , I 5 |
1 7 ( | & &
3 ( | ( 10 3 (3
( 1 3 '5 10 . &
( ! % '5 1 ( 3 , -0,413 - % 3 I'5
( (& ! & 3 5 1 I &
> 3 ) Il 10
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1! 3& % 0 Il (
& . 4! . 01 ! ( 5 !
( 3& ! 3& , ( ~ 80 %
Mn, ! 1. | 3& 5 1 | (132 )
3.5 ( ( 3& ( -
I ( 3 , L ( 5 3. 32,11 &1 ! !
1 J :\J/In2+/Mn j CI;’ﬂMnOA,H‘L,MnZ‘L =152 .
: Mn + 4H,0 = MnO,” + 8H' + 7e.
. (03 . ( 5 3. 32,22 (!
(1): MNO;” + 8H + 7e = Mn + 4H,0
) (1% 32, ! ( & (3! j(l?/ln2+/Mn j%ﬂMnO};,H‘L,an‘L:
(2): Mn?* + 2e = Mn
(3): MNO, + 8H" + Be = M** + 4% ,4
(1) bt 2 3.4
DG° (1) =DG°(2) +DG°(3),
- 4Fj 7= - z,Fj 3- z5Fj 3,
| jo=ldztEs 2EU8HHSAR2_ ),
z 7
3.6 I ( 3 , L ( 5 : 32
( -, 7 5 (' pH=12.( 1
! ( 17
$ 32 (1) 5 !
8
a a4
j=j°+ﬂln Mnoz “H*
TF Ay
) bo(L& T ey =1 a, =l ( 3
32 (1) $ !5
o, 0059, 1=, 80059
¢=j° lg—H—=j°- H.
J ]t 7 g 1 J 7 p
I $ =12
j o= jo. B0 o 0747 BOBMZ. oper ! ( 3 32
! 1 I'5
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;] 1! I & 17 , 7 3 1
's (3 32 | . 3 & 1 Il 7
_ ( 5 I I 11 , I
170 , I &5 ( (!
(! MnO, 7 ;
- I & | | :
- 15 %!0 ( 1!0 3. , 10, I I
7
3.7 (! I ( 17 &&
( & % KOH K,CO; 01 Il 3 %%& NaOH NaCO;
% % .8 ! 5 , ?
Il KMnO, & , I 20! & ( &
117 ., NaMnQ, 7 1! 5 , . Il
1 Il 1! , I (3 I 5 1 %
]
4,
(! — (' 0 r 1 1110 ( , I 10
( 1% K- | ,'5 10 3& Il ((r
( - Il ) ] -C(O)NH-, 32 32 .)"°
&5 K- I & (& 52 Il , K- (&
% 2 Il
(0]
HO\H/\NHz HZNI\)‘\NHZ HO\'I &j/I
° ay 07 TOH GiIn O val His
OH
o NH HOJ\Q) NH,
NH, Arg o} AIa Phe
) 10 17 ! Gly, GIn, Val, Thr, His, Arg, Pro, Ala, Phe, Asp
( . ( ((! (e I 5 10 I 10 1% ), L
! ( ! :
41 . 1! 5 . % 7
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$. % ! 17 L (! L 5 Asp
(5! ! | & (& 1 38 ) His
Arg ( & 5 ¢ )
$(! . Gly-Ala-Phe-Asp-Val

4.2 | 1! 5 . % * 7
$1 % 17 , L ((! , ! !
His Arg 1 ! Asp.
$(! : Pro-His-Ala-Arg-Gly

4.3 | 1! 5 7 !
$. % | . 17 L ((!

! 10 10 3 1 3&
$(! : Val-Phe-Gly-Ala-Pro

44 (¢ 5
$. % N (O !
OH NH ( :
$(! : GIn-Thr-His-Asp-Arg

45 (! 5 1
$. % 3 G !

O N:

$(! : GIn-Thr-His-Asp-Arg
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I
! 1! ; : («
1 . '
4.7; | (! '
1!

6 |

4.8; !

10 ’

9 |

49:; |

10 '

10 !

4.10; !

- 3(
10 '
6,7
9 !'( 05 !
I 310
)

411; !

1,2,3 . | |
,5,10 ' ( 0 5 ! ’
I 310
)
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$ (! (v o 0 10 o , !
Lo & 10 110 ( 3
! 5 ( &&
0O 110 3. , 5 ( ! 3! .
; 'S5 ! 1 15
i 1 110 0 . 1! &
3 H,SOy, KoSOy HgSQ . |( ' 1!
: & 3 NaOH. , (15
2 1 (& o7 1% > 11 (1
I & 0,02 . 1! H,SO,.
51 & ( 7 &5 2 ("
NH,"
52__ & 7 ! 5 (! NaOH.
NH;
5.3 5 2 rol & I &

H3803 + NH3 - NH4+ + H2803_

5.4 5 2 ,7 5 ( 1

HzBOg_+H30+ = H3803 + Hzo

55 ) ( 110 ! . % (0!
! :
! ( (0 $ 3,1-3,4)
1! 2 ( (0 $ 8,0-9,6).
% !
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13 1! ! ! : &

[ I (0
L7 1 115 0 & &
2 | | I 11 111 !
5 (! 2 10 110 1! 4, 1
| && (! ! L7 (% 11
0 (1 ( ! 1 3& 10 1.
1 3& | & &1l . 1% 11 KMnO,
1! H,SO, ! 1!
11,7 115 1% ( . && ( &
2 NaC,0s  ( % | & ! 1!
5.6 5 2 1 1! KMnO,.

2 MnO,” + 5 HNO, + H" =2 Mn? + 5 NO; + 3 H,O

5.7 !

2 MnO; + 5 H,C,0, + 6 H =2 Mn? + 10 CQ + 8 H,O

5.8 1l ! 1! 3 32 ,
AT AB,C % ,( 10 ( 11

A / N 1! NaNO

B: 1! Il 1! KMnOy,4

X 1! KMnQO,

D: 1! Na,C,04

. 1! Na,C,0,

F: 1! NaNQO,,

A=[5(BxC)-2(DxE)]x7/F
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The applications will be limited only by our imagtion
John S. Wilkes, “lonic Liquids in Synthesis”

/11 I I & ( ! ( 11 100° . !
& I ( 13,11 111 1011 , 5
e, &N (& 1 1% 110
( (350-450° ), 117 & &
4! ( %0 ! ( 1914 3 , % %!
! 3 & & 1, 5 ! (
012 (! 4 11 ¥ ( & ( 12° 5

. : W(C) = 222%, W(H) = 747%, w(N) = 25%%.

e
\NH2+ A B
6.1 & 11! I # 20 !
A B
0 -
HO—N\+ N\ L
07 NH3 O*' \\O
[ % 14 (& ( 15° 1 0 &
N 1. EtONa Mel AgBF,
E\ - C - D E
H 2. EtBrleq H,O / MeOH
6.2__& 0 ( ! 1! ;
D E.
C D E
Né\N SN SN
=~ \ F N BF, LN\
6.3 ) ( 110 P &
FoL! 1 ($ 30)S0, [($ 3)3:0]BF,;, CHF? ! > :
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CHgsF, 7 5 &&1!

6.4 ; ! 110 41 AgBF,, % (
5 1 5 ?
Agl ( Nal Kl 0 32 (5 , , 22
N 3.2 %
/ Il F5 111 4 ( & ( 71° |
2 5 (7 I 2 I 2 ( F I
& (& 0 & :
H,O / MeOH
2 ~SNH, + CHO + O + HPFg, —— F
6.5 111 F
F
LN+5\
PFg \Q/N
6.6 ' '$ 8; B8 (0 & 111 4 F.
1! 4 1! F
6 ! '$ 8; 41 '$ 8;
6 | 8 |41 Bog;
7.5
1 (! 1 (! ! )
( ! 1 41
2 I & (! 1
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7 Y F (! 1! ) 1 & 3,03

1 & '5 1l 10 (! 3 &5 1;
1! $ =1). 1! & 260 31 10 %
( ), 1L 11 11& 12 1 ( (
1! 3 ) 15 . ( 0 1 (!
I( 110 ! Y, 1 % 1,2
(10 50%). ! 3 1% & ! 'Y,A B( 5
1% (! 220° ). ] ! Y 5(
(1 0 1! NaOH 1 . ,
(! I( 1! 2/3 '5 .0 10 °
Y.
7.1# (! ABXY 2z 7 7 11 Z5
31 1 X.
10 1! (! 1 1 I

M(Me(NO)snH,0)=303 /  , !
X — SC(NQ)34H20, Y — SC(OH)(NQ)ZBHZO, Z— SQOg

X Y Z A B

Sc(NGy)34H,0 | Sc(OH)(NQ),3H,0 S60; Zn(NOy), NH,NO;
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7.2 0110 3. & (! 1

( X Y, ( ( !
10 ( 32 :
Sc(NOy)34H,0 = Sc(OH)(NQ),3H,0 + HNO; (1! (! 22 )
11, :
4 Sc(NQ)34H,0 = 25603+ 12NGy + 30, + 16H,0
Y 0 ( (
Sc(OH)(NG),3H,0=ScO(OH)+2HNG+2$ ,4 (1! ( !
2ScO(OH)=Sg03+H,0
I L7 01 ( Y ( ( 1
& 111, l, ( 20 ! 1 5
5 ( 13 110 (), 7 . (! ! 2
( ! (1 1
7.3 ( ! 1 $ 1 1.)0 5 3 3 H*
11 ?

S+ H,0 = Sc(OHj" + H'

7.4 3. ,7 & (1 (1 Y.

10Sc(NQ)s4H,0 + 4Zn = 10Sc(OH)(N§), 3H,0G+ 4Zn(NQ), + NH,NO; + 3H,0
NH,NO;=N,OH+ 2H,0

Sc(NOy)34H,0 + NaOH = Sc(OH)(Ng),3H,0 + NaNGQ + H,0
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